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Cuadro 16 (continuación 4)/Table 16 (continued 4)
Panamá: tablas abreviadas de mortalidada

Panama: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.033 0.032  100 000  3 212  97 347 0.965 b 7 020 482 70.2
1 4 0.002 0.008  96 788   779  385 167 0.993 c 6 923 135 71.5
5 5 0.001 0.004  96 009   339  479 198 0.997 6 537 968 68.1

10 5 0.001 0.003  95 670   306  477 585 0.995 6 058 770 63.3
15 5 0.001 0.006  95 364   619  475 274 0.991 5 581 185 58.5
20 5 0.002 0.011  94 745  1 056  471 086 0.988 5 105 911 53.9
25 5 0.003 0.014  93 689  1 292  465 215 0.986 4 634 825 49.5
30 5 0.003 0.014  92 397  1 338  458 641 0.985 4 169 610 45.1
35 5 0.003 0.015  91 059  1 375  451 858 0.984 3 710 970 40.8
40 5 0.004 0.018  89 684  1 570  444 495 0.980 3 259 111 36.3
45 5 0.005 0.023  88 114  2 031  435 494 0.972 2 814 616 31.9
50 5 0.007 0.033  86 083  2 860  423 265 0.958 2 379 122 27.6
55 5 0.010 0.050  83 223  4 167  405 696 0.937 1 955 857 23.5
60 5 0.016 0.077  79 056  6 057  380 136 0.904 1 550 161 19.6
65 5 0.025 0.117  72 999  8 548  343 624 0.855 1 170 025 16.0
70 5 0.039 0.177  64 451  11 405  293 741 0.785  826 401 12.8
75 5 0.060 0.262  53 045  13 897  230 485 0.690  532 660 10.0
80 5 0.093 0.376  39 149  14 712  158 964 0.571  302 175 7.7
85 5 0.141 0.516  24 437  12 598  90 690 0.435  143 211 5.9
90 5 0.211 0.667  11 839  7 899  39 447 0.298  52 521 4.4
95 5 0.309 0.806  3 940  3 176  11 760 0.101 d  13 074 3.3

100 ω 0.581 1.000   764   764  1 314  1 314 1.7
Mujeres/Females

0 1 0.024 0.024  100 000  2 377  98 034 0.973 b 7 592 056 75.9
1 4 0.002 0.007  97 623   698  388 682 0.994 c 7 494 022 76.8
5 5 0.001 0.003  96 925   271  483 946 0.998 7 105 341 73.3

10 5 0.000 0.002  96 654   213  482 737 0.998 6 621 395 68.5
15 5 0.001 0.003  96 441   262  481 550 0.997 6 138 658 63.7
20 5 0.001 0.004  96 179   346  480 029 0.996 5 657 108 58.8
25 5 0.001 0.005  95 833   450  478 040 0.995 5 177 079 54.0
30 5 0.001 0.006  95 383   575  475 478 0.993 4 699 040 49.3
35 5 0.002 0.008  94 808   741  472 189 0.991 4 223 562 44.5
40 5 0.002 0.010  94 067   983  467 880 0.987 3 751 373 39.9
45 5 0.003 0.015  93 085  1 361  462 022 0.982 3 283 493 35.3
50 5 0.004 0.021  91 724  1 959  453 722 0.973 2 821 471 30.8
55 5 0.007 0.032  89 765  2 917  441 532 0.958 2 367 750 26.4
60 5 0.010 0.051  86 848  4 413  423 206 0.935 1 926 218 22.2
65 5 0.017 0.081  82 435  6 654  395 539 0.896 1 503 012 18.2
70 5 0.027 0.129  75 781  9 740  354 554 0.837 1 107 473 14.6
75 5 0.045 0.202  66 041  13 371  296 775 0.750  752 918 11.4
80 5 0.073 0.311  52 669  16 361  222 443 0.630  456 143 8.7
85 5 0.119 0.456  36 308  16 540  140 189 0.485  233 701 6.4
90 5 0.189 0.625  19 768  12 356  67 948 0.333  93 512 4.7
95 5 0.285 0.778  7 412  5 766  22 643 0.114 d  25 564 3.4

100 ω 0.564 1.000  1 646  1 646  2 921  2 921 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


